Pre-Calculus A Name : KCH

Complex Operations and Solutions Practice Date : Period :

Write in complex form:

1) J-25 2) J—64 3) J-14 4) J-32
Jsi = B Joiie 8L Jue il - Ji2i- 4ia

Perform the addition, subtraction, or multiplication and write the result in standard form.
5) (5+i)+(6-2i)=

-

6) (13—+—=4)+(-5++/-36) =
R-JRi+ {36l = g-ai+6i = §+4i

7 8-i)—(4-i)=
g-1-4+L = 4

8) (3++—4)—(6+~—169) =

1AL -6 - Tl - 3aai-b-BL 2 -3

9) 5i(3-2i) =
6L-10t? = (6{-10(-1) = \6( +10

10) (6 -2i)(2-3i) =
la-160-4iawt® = 13-330+601) = g-aan
Write the complex conjugate of the number. Then multiply the two quantities.
11)6+3i , 6-3
30-97 = 30-901) = 46
12) 7-12i , 1+\aL
491447 L gg-my () = 193
13) -3++/2i, -3-Vai

9-080% - q-3¢-1) = 1



Write the quotient in standard form.
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For questions 17 — 19, find all zeros of the given polynomials.
i,2.M

17) X —4x* +6x—-4=0
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18) x*—4x* +9x-36=0
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19) x*+10x* +33x+34=0
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